Parts Breakdown

MST6501A - MASTER BOLT GRIP SET




Item: MST6501A
Description: MASTER BOLT GRIP SET

Notes: N/A
6501A-1 PULLER YOKE,3/4" CENTER
2 6501A-2 FORCING SCREW, 3/4-16UNFX5-3/8 1 K
3 6501A-3 FORCING SCREW, 3/4-16UNFX2-3/4 1 K
4 6501A-4 CENTER ADAPTER LONG 1 K
5 6501A-5 LIVE-CENTER ADAPTER SHORT 1 K
6 6501A-6 FLAT ADAPTER 1 K
7 6501A-7 FLAT-SHANK ADAPTER 1 K
8 6501A-8 WASHER HEAD BOLTS M8X1.25X90MM 3 K
9 6501A-9 WASHER HEAD BOLTS M8X1.25X45MM 3 K
10 6501A-10 1/4 - 28 BOLTWASHER HEAD BOLTS 3 K
11 6501A-11 HEAD BOLTS M8X1.25X65MM 3 K
12 6501A-12 HEAD BOLT 5/16-24UNFX3" 3 K
13 6501A-13 HEAD BOLTS 5/16-18UNCX3.5" 3 K
14 6501A-14 HEAD BOLTS 3/8-24UNFX1.5" 3 K
15 6501A-15 HEAD BOLTS 3/8-16UNCX2" 3 K
16 6501A-16 HEAD BOLTS 3/8-16UNCX3" 3 K
17 6501A-17 HEAD BOLTS 3/8-16UNCX4.5" 3 K
18 6501A-18 HEAD BOLTS M10X1.5X35MM 3 K
19 6501A-19 STEP BOLT (GM) 1/4-28UNFX3" 3 K



